
Chapter 11 FRAPPY! 

Student Sample Commentary 
 

 

Sample #1 

In Section 1, the response includes correct hypotheses, so component 1 is satisfied. Both parameters are 

clearly defined, which satisfies component 2.  However, component 3 is not satisfied because the 

response does not identify the correct inference procedure (two-sample t test for a difference in means) by 

name or formula. With two components satisfied, Section 1 is scored partially correct (P). In Section 2, 

the response correctly checks all three conditions, satisfying components 1, 2, and 3. Because the correct 

standardized test statistic and P-value are reported, components 4 and 5 are also satisfied. With all five 

components satisfied, Section 2 is scored essentially correct (E). In Section 3, the response satisfies all 

three components by comparing the P-value to the significance level, making a correct conclusion about 

the alternative hypothesis, and including context. Section 3 is scored essentially correct (E). With two 

parts essentially correct and one part partially correct, the entire response was judged as substantial and 

earned a score of 3.   

 

 

Sample #2 

In Section 1, the response includes correct hypotheses, satisfying component 1. The parameters are not 

correctly defined in terms of population mean percentages of popped kernels, so component 2 is not 

satisfied. The response correctly identifies the test procedure, so component 3 is satisfied. With two 

components satisfied, Section 1 is scored partially correct (P). In Section 2, the response correctly checks 

the normality condition (component 3 satisfied). However, component 1 is not satisfied because there 

isn’t an acknowledgement that two random samples were selected. No mention is made of the 10% 

condition, so component 2 is not satisfied. The response correctly calculates the test statistic and P-value, 

satisfying components 4 and 5. However, an incorrect formula is included that uses population standard 

deviations rather than sample standard deviations. This reduces the number of components satisfied from 

three to two. With two components satisfied, Section 2 is scored partially correct (P). In Section 3, the 

response includes a correct decision about the alternative hypothesis in context (satisfying components 2 

and 3). But the response never compares the P-value to the significance level, so component 1 is not 

satisfied. With two components satisfied, Section 3 is scored partially correct (P). With three parts 

partially correct, the entire response was judged as developing and earned a score of 2.   

 

 


